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[EC&E 1] FE GCETEE | astmmzaza
HMSHEEERA

(IR A DER) T F B H ~ F B H)

& B ¥ 8 3| R E OFHE = =B " &
1. SECEEINA 6,500,000  7,837,650] -1,337, 650
=sEEmw Al 2,000,000 1,958, 650 41, 350
2zmA]  3,000,000] 3,096,000 ~96, 000
=S| 1,000,000 2,283,000 -1,283,000
IS 500, 000 500, 000 0
2. BEZEINA 7,500,000 8,464,525 ~964, 525
BEEERINA 500, 000 486, 525 13, 475
sy A 7,000,0000 7,978, 000 ~978, 000
3. XA 0 12,762 12,762
MO A 0 12,762 12,762
4. BASINA 400, 000 500, 000 -100, 000
EERISEHEA DI 400, 000 500, 000 -100, 000
5. ETEEIUNA 100, 000 100, 000 0
EATEERINA 100, 000 100, 000 0
6. BEADIXA 500, 000 500, 000 0
7 A & I A 500, 000 500, 000 0
7. BRITESEEIA 2,000, 000 ol 2,000,000
EARBEFESIGEEIA| 1,000,000 ol 1,000,000
IEERTESIGENA| 1,000,000 ol 1,000,000
8. TAYSILA 0 55, 920 ~55, 920
WU & I A 0 55, 920 ~55, 920
LRI A RS ) 17,000,000 17, 470, 857 ~470, 857
BMEEKRESTES (B) 4,000,000 3,941,530 58, 470
IWASE (©O= A+ (B) 21,000, 000] 21,412, 387 ~412, 387

>TRA G &M AEH BN —EULET .
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IR ERETA

FE INZKEHESE | atmmzaza

(ZHEDER) F A H ~ F A B
M B FTEE I REBEE| =2 £ w %

1. REEE=HE 3,500, 000 3, 385, 274 114,726
(1) RECEFE 2,500, 000 2,448, 559 51, 441
BITSEE 1,300, 000 1,297,952 2,048
PUEHEE 1,000, 000 962, 377 37, 623
EEEFE 200, 000 188, 230 11, 770
(2) EEE (HFE) 1,000, 000 936, 715 63, 285
=R 150, 000 142, 800 7,200
F58 450, 000 435, 935 14, 065
RE B E 120, 000 105, 630 14, 370
KK ERBRFY 130, 000 130, 000 0
NN S 100, 000 95,000 5,000
B 50, 000 27, 350 22,650
2. \E 5, 800, 000 5, 549, 500 250, 500
(1) #Ww5F3 5,200, 000 5,037, 000 163, 000
(2) BAEEE 600, 000 512,500 87, 500
3. # e 600, 000 430, 000 170, 000
(1) "=t AES T 600, 000 430, 000 170, 000
4. BEREGXH 6, 500, 000 6, 495, 300 4,700
(1) BYEExH 6, 500, 000 6, 495, 300 4,700
5. fEAREEXH 270, 000 270, 000 0
(1) EAERERE 250, 000 250, 000 0
(2) ZIFBEXH 20, 000 20, 000 0
6. FHFREXL 100, 000 100, 000 0
(1) EFMEREEA 100, 000 100, 000 0
7. FAYEXH 30, 000 25, 150 4, 850
FAY &t 30, 000 25, 150 4, 850
8. Flin& 200, 000 0 200, 000
SFEEXEEE (D) 17,000, 000f 16, 255, 224 744, 176
SEEREEAE (E) 4,000, 000 5,1567,163]  -1,157,163
gt (F)= D)+ (F) 21,000, 0008 21,412, 387 -412, 387

>TRA G &M AEH BN —EULET .




